Short Answers    Chapter 35 Electric Circuits
Review Questions 559
1.
No, Electrons in both battery and circuit itself
2.
Gap interrupts flow like closing valve in water pipe
3.
Series: single path, parallel: alternate paths
4.
2 volts
5.
Current stops
6.
6 volts
7.
Current continues unchanged in other two
8.
a. Parallel   b. Parallel, 6 V across each
9.
Increases; decreases, as more pathways
10.
16 ohms; 4 ohms, twice the pathway
11.
More pathways for electron flow
12.
Carrying more than a safe current, wires get hot
13.
To halt dangerously high currents
14.
Draw excess current
15.
Circuit offered path of much less resistance
Plug and Chug 560

1.
Req = 60 Ω, so I = V/R = (48V)/(60 Ω) = 0.8 A
2.
Req = 15 Ω, so I = V/R = (48V)/(15 Ω) = 3.2 A
Think and Explain 560
1.
“Uses up” fuel that produces electricity, heat
2.
Wings may touch and connect wires, short circuit

3.
Current would vary as new appliances connected

4.
Current diminishes and lamps glow dimmer

5.
Current stays same so brightness not affected

6.
A brightest; A; B-C remain lit; only A remains lit

7.
Parallel brighter; parallel run down faster

8.
Parallel, one at 100 W, other 50 W, both, 160 W

9.
Sum of all currents that feed branches

10.
Same in series; parallel, more in 100-W bulb

Think and Solve 561
1.
Req = 1/(1/R1 + 1/R2); 1/(1/8 + 1/16) = 5.3 Ω
2.
a. 10 Ω pair parallel part: Req = 5 Ω

b. Req = 20 + 5 + 15 = 40 Ω
3.
eight

4.
Req = 20 Ω, so I = (10 V)/(20 Ω) = 0.5 A

5.
a. 1.5 Ω

b. I = (12 V)/(1.5 Ω) = 8 A
